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I 2 3 4
1 GIO HIIRFT 208 0.01
2 kdr qq 03 230 /1, 238/t 0.01, 0.01
3 +€q Ri-6 Rm rorffi 285 0.03
4 {rih ch rs. {TdfrE-qq 19 290 0.13
5 sfu fuor qatq wq oi 29+ 0.09
6 .i'l+{ kdr rdes 295 0.02
7 osq"r RfE kdr ilqt 297 0.04
8 fudr sr{q 01 298 0.02
9 tirn-1H s1q 19 604, 666 0.11, 0.03
10 rersnq frar 60s 0.t2
11 606 0.15
t2 ckff kfl.trTrFi oi-q 04 661 0.07
13 qew frar ;IRFTOI EIq 04 664 0.05
t4 tiw fudr qqff{r 67t 0.01
15 sF6-r vto cFr fudr qt qq o: 674 0.02
16 ffi{rq kff IRFIUT gTdT 02 675 0.03
t7 q+cm fun Rr+ ,rq o+ 676 0.04
18 qqRrq frilr gl-dl 11 685, 697 0.03, 0.11

T{{qrq &f,T frdnrq qq os 703 0.04
20

r^
ffiRIq Iqf,I qRrttq sr;tT 05 7L6 0.02

2t dstild k6 ffi 203/2, 203/3 0.01, 0.01
22 203/4 0.01
23 sfs{ dld crrr kil qt 230/2 0.02
24 RH kdr #sr q.q o7 681 0.02gow kar rotq qq or 682/L 0.03
26 db'<( kdr qil+q w.q os 682/2 0.02
27 T+q R-dr tcot qe oi 682/3 0.03
28 qlqq Bor 682/4 0.02
29 fiRi-6 R-dr ffi 686n/s 0.01
30 $+.rdril cl.r kdr 717 /L 0.M
31 Tnq R-dr ffi STf,T 03 687 0.02
32 527 0.25
33 lrEtRFr kor u 528, 529 0.06, 0.25
34 Atrffi kff frdnrq 667 0.20
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